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NOTES 
• Two rational numbers with the same denominator can be added by adding 

their numerators, keeping the denominator same. Two rational numbers 
with different denominators are added by first taking the LCM of the two 
denominators and then converting both the rational numbers to their 
equivalent forms having the LCM as the denominator. 

              For example: 
−𝟐𝟑  +  

𝟑𝟖 = −𝟐×𝟖+𝟑×𝟑𝟐𝟒  = 
−𝟏𝟔+𝟗𝟐𝟒   = 

−𝟕𝟐𝟒  Here, LCM of 3 and 8 is 24. 

  

• While subtracting two rational numbers, we add the additive inverse of the 
rational number to be subtracted to the other rational number. 
  

• To multiply two rational numbers, we multiply their numerators and 

denominators separately, and write the product as 
𝒑𝒓𝒐𝒅𝒖𝒄𝒕 𝒐𝒇 𝒏𝒖𝒎𝒆𝒓𝒂𝒕𝒐𝒓𝒔𝒑𝒓𝒐𝒅𝒖𝒄𝒕𝒐𝒇 𝒅𝒆𝒏𝒐𝒎𝒊𝒏𝒂𝒕𝒐𝒓𝒔 

 
• To divide one rational number by the other non-zero rational number, we 

multiply the rational number(dividend) by the reciprocal of the 
other(divisor). 

               Thus, 
−𝟕𝟐  ÷ 

𝟒𝟑 = 
−𝟕𝟐  × 𝐫𝐞𝐜𝐢𝐩𝐫𝐨𝐜𝐚𝐥 𝐨𝐟  𝟒𝟑 = 

−𝟕𝟐 × 
𝟑𝟒  

−𝟕×𝟑𝟐×𝟒  = 
−𝟐𝟏𝟖             

 

                                                         EXERCISE -9.2 

Q1. Find the sum: 

(i) 
54 + ( 

−114 ) = 5+(−11)4  = 
−64  = 

−6÷24÷2  = 
−32        [Here HCF of 6,4 = 2] 

 

(ii) 
53 + 

35 = 
5×53×5 + 

3×35×3 = 
25+915  = 

3415 = 2
415         [Here  LCM of 3,5 = 15] 

 

(iii) 
−910 + 

2215 = 
−9×310×3 + 

22×215×2 = 
−27+4430  = 

1730         [Here LCM of 10,15 = 30] 

 

(iv) 
−3−11 + 

59 = 
−3×−9−11×−9 + 

5×911×9 = 
27+5599  = 

8299         [Here LCM of 11,9 = 99] 

 

(v) 
−819 + 

(−2)57  = 
−8×319×3 + 

(−2)×157×1  = 
−24−257  = 

−2657       [Here LCM of 19,57 = 57] 

 

(vi) 
−23   + 0 = 

−2+03  = 
−23       

Q2. Find 

(i) 
724 - 1736 = 

7×324×3 - 17×236×2 = 
21−3472  = 

−1372        [Here LCM of 24,36 = 72]     

 

(ii) 
563 - (−621) = 

5×163×1 + 
6×321×3 = 

5+1863  = 
2363       [Here LCM of 63,21 = 63]     

 



(iii) 
−613 - (−715) = 

−6×1513×15 + 
7×1315×13 = 

−90+91195  = 
1195       [Here LCM of 13,21 = 63]     

 

(iv) 
−38  - 

711 = 
−3×118×11  - 

7×811×8 = 
−33−5688  = 

−8988        [Here LCM of 8,11 = 88]     

 

(v) -2
19 – 6 = 

−199  -6= 
−19×19×1  - 

6×91×9 = 
−19−549  = 

−739    [Here LCM of 9,1 = 9]     

 

 

Q3. Find the product: 
 

(i) 
−92  × 

74 = 
−9×72×4  = 

−638                        (ii)  310 ×-9 = 
3×(−9)10×1  = 

−2710  

 

(iii) 
−65  × 

911 = 
−6×95×11 = 

−5455                   (iv) 
37 × 

−25  = 
3×−27×5  = 

−635 

 

Q4. Find the value of: 
 

(i) (-4) ÷ 
23 = (-4) × 

32 =  
−122  = -6              [ Reciprocal of 

23 is 32 ] 
 

(ii)  
−35  ÷ 2 = 

−35  × 
12 = 

−3×15×2  = 
−310             [ Reciprocal of 2 is 

12 ] 
 

(iii) 
−45  ÷ -3 = 

−45  × 
−13  = 

−4×−15×3  = 
415       [ Reciprocal of -3 is 

−13  ] 
 

(iv) 
−18  ÷ 

34 = 
−18  × 

43 = 
−1×48×3  = 

−424 = 
−4÷424÷4  = 

−16        [ Reciprocal of  
34  is  43 ] 

 

(v) 
−213 ÷ 

17 = 
−213 × 

71 = 
−2×713×1 = 

−1413                   [ Reciprocal of  
17  is  7] 

 

(vi) 
−712 ÷ 

−213 = 
−712 × 

−132  = 
−7×−1312×2  = 

9124           [ Reciprocal of  
−213  is  

−132  ] 
 

 

  

ASSIGNMENT: Exercise-9.2 -Remaining subparts of Q1 to Q4 

 


